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Corrections :
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Corrections :
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If I is Lorentz scalar
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Is there a counterexample ?

S= Solex L



Homework # 1 : Peskin S Schroder 2. I
,
2.2
,
2.3

-

Due in 3 weeks : Tue
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Oct 20 by 11:59pm



Lattice Momentum opt p→ is the generator of translations
f- (a) → f ta) on the space of diff . f-us
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Usatf f- CI't SF) = [ it i @ Exit ) .pt]fE')



Rotations : f CI') → f ( Est SI
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f- (o , y) Spherical harmonics Yew
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In this subspace T
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@ e-111 - dim rep of rotation group

E - weight at the rep

Lett - integer ⇒ e - half - integer



Include half - integer spin

E spin - Ya Ji = Is Gi - Paul , matrices
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I 4 D Lorentz transform

Jmu = i ( xuan - Xuan )
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" Rotations " of re - vectors

Td = Rdp VB R = e
- Iwao Ju
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R= I - izuq.TN
Consider rotations in 12 plane
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D= I - i w,z The Ed Pd
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⇐a) = : ( SL Spi - SI 8pm) - ie - dem rep of
Lorentz
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Dirac Suppose we have 4 hxu matrices ?
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Dirac Suppose we have 4 hxu matrices ?

{ die
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